Section 9.7

1. experiment; outcomes
2. sample space

3. probability

4. impossible; certain

5. mutually exclusive

6. independent

7. complement

8. (a) 11
(b) i
(c) iv
(d) 1

=)

. {(H.1).(H.2).(H.3).(H. 4).(H.5).(H. 6).
(T,1).(T.2).(T.3),(T, 4).(T.5).(T. 6)}

11. {ABC. ACB. BAC, BCA, CAB, CBA}
13. {AB. AC, AD, AE, BC, BD, BE, CD, CE, DE}

15. E = {HHT, HTH. THH)

17. E = {HHH. HHT. HTH. HIT}

19. E = {HIﬂ:’.Iﬂ:’T,HTH,HTT,TfEI,THT.TTH}

21. E = (K&, K¢. K¥. K&, 0% 0. Ov. 04, J&. Je. Jv. Ja}

P(E)

_nE) _12_ 3
n(S) 52 13
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23. E = {K¢.Kv,.Q¢.0v. Je¢ J¥}

nfE) 6 3
P(E) = n(s) 52 26
25. E = {(1.5).(2.4).(3.3).(4.2).(5.1)}
n(E) 5
PE) =26 " 36

27. Use the complement.

E' = {(5.6).(6.5).(6.6)}

~ nE) 3 1
PE) =35 "% 1
1 _1

P(E) =1-P(E) =1-— =<

29. E; = {(1.2).(2.1)}. n(E5) = 2

Bs = {(14).(2:3).(3.2). (4. D} n(E5) = 4
E; = {(1.6).(2.5). (3. 4). (4. 3). (5. 2). (6. 1)}. n(E7) = 6

EZESUESUE?
n(E)=2+4+6=12

n(E) 12 1

E) = —= = =
P(E) n(S) 36 3

c 3001

31. P(E) =32 =—=—
P(E) Cy 15 5
BopE)=22_°%_2
¢Cy 15 5

35. P(E')=1-P(E) =1-0.87 = 0.13
37. P(E)=1-P(E)=1-
39. P(E)=1-P(E')=1-1023 =0.77

_ no_ 17 _ 138
41. PE)y=1-PE)=1-1 -1
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43. (a) 0.14(8.92) ~ 1.25 million
o _ 2
(b) 40% =%

(c) 26% = L&

(d) 26% + 3% = 29% = 7=

sClo 3003 21

53. (a) = = ~ 0.016
0Co 184756 1292
) i5Cg -sC _ 64350 _ 225 ..o
20Cio 184.756 646
Cy - 5G C 25,025 + 3003 28,028
(o) B st 15t + _
2Cio 20Cio 184,756 184,756
_ 49
323
~ 0.152
55. (a) —— = ——
sB 120
1 1
(b) — =
P 24

66. (a) P(44) = (0.90)" = 0.81

(b) P(NN) = (0.10)* = 0.01
(c) P(4) =1- P(NN) =1- 001 = 0.99

1

67. (a) —
(a) m
18 Q9
(b) FTIRT)
2 18 20 10
) —+—=—=—
38 38 38 19
1 1 1
d — — = —
38 38 1444
18 18 18 5832 729
@ — —= = = =
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68. (a) P(BBBB) = (%)4

(b) P(BBBB) + P(GGGG) = (1

(c) P(at least one boy)

L

16

1

b -

1 — P(no boys)
1 - P(GGGG)

1 -
_Is

16

1

16

1l
8
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